


Find unit digit of (213)“ ><(522)!I><(218)!!
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The remainder ,when 17°7 +29%7 is divided by 23 is ?

NTHA FTA B T 1737 +29%7 &1 23 ¥ oo frars= 2
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q_‘_._f,..-' The !l“erence ue!ween compoun! an! s1mp\e 1n!eres! on a cer!aln

sum for 3 years at 5% per annum is Rs. 122, the sum is —

3 |TeT o o8 5% T o9 uX Tek fAfara uier w3 wrshaty o aramor sars
o Ster ohT AT & 122, AT T 9@ T AT BII-

(1) Rs. 16000
(2) Rs. 15000
(3) Rs. 12000

4) Rs. 10000
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The marked price of a piano was Rs. 15000. At the time of sale, there were

successive discounts of 20%, 10% and 10% respectively on it. The sale price was.

s o & fafga fima © 15000 oft. forshy & aw=, 39w wawT: 20%, 10% AR

10% <6t AR g ot fersht wear am

(1) Rs. 9720
(2) Rs. 9750
(3) Rs. 9760
(4) Rs. 9780




Ravi starts a business with Rs. 45000. After a certain period of time
he is joined by Mohan who invests Rs. 30000. At the end of the year
they divide the profit in the ratio 9 : 4. When did Mohan join Ravi?
T 45000 T o AT Teh SHTHTT & HIAT 8. Yok (2 a0 6
ITE IE WIET & WS ATAT § I E 30000, AT S oY o6 37d § F AT
T 9: 4 o ITTATA | ToraTiRTa Shd 8|t diege 7 It sht okl ITTHA

femar? (1) After 3 months
(2) After 5 months
(3) After 6 months

(4) After 4 months




A car and a jeep were sold for Rs. 12000 each. The car was sold at a loss of 20% !
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while the jeep at a gain of 20%. The entire transaction resulted in —

Teh T 3T Ueh ST &9 12000 Tk W o=t T3 o) | h1T hi 20% hH B 9= ==
T, FeAfeh ST BT 20% ok ST TR HYUT TG o TRUTHEEY -

(1) Neither loss nor gain
(2) Gain of Rs. 1000
(3) Loss of Rs. 10000

(4) Gain of Rs. 500




S8 A man invests a part of 10000 at 5% and remaining at 6% . The 5% =
investment yields annually Rs. 76.50 more than the 6% investment. The
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amount invested at 6% is

T SAf 10000 HTHD AT 5% 6 A AT 2 q0ht 6% 4,
5% U THeT STeT UAT 76.50 AT TTH FATR 6% W, AT 6% T ST T4T

e AT &
(1) Rs. 3600
(2) Rs. 3550
(3) Rs. 3850

(4) Rs. 4000




A man divides his property so that his son's share to his wife's and wife's

share to his daughter's are both as in the ratio 3 : 1. If the daughter gets Rs.

10000 less than son, the value (in rupees) of the whole property is —

Teh STTEHT ST TUTRT Rt frTiTd oh¥aT § ik 38k d¢ ShT foTaT STeht Tedt
T IR U1 ST TEEAT IHehT JET hl ST 3: 1 h STUTA H 8l Al dA BT Tl e |
10000 W, T HUfRT &7 Ho (U ) 7 -

(1) RS. 16250
(2) Rs. 16000
3) Rs. 1825

(4) Rs. 17000




If X runs are scored by A,y runs by Band zruns by C,thenx:y=y:z2=3:2.
If total number of runs scored by A, B and C is 342, the runs scored by each
would be respectively-

AR X TA T TAWATTE, Y AB T AR Z T CTE, Axi y=y: z=3: 2.
afg A, B 3R C ERT ST 7T HeA W chl HEAT 342 &, A1 T F feha T /AT

AT -

(1) 144, 96, 64
(2) 162, 108, 72
(3) 180, 120, 80
(4) 189, 126, 84




If 25! + 2¥"1 = 320, the value of x is -




108 + V169 =?




Out of nine persons, 8 persons spent Rs. 30 each for their meals. The

ninth one spent Rs. 20 more than the average expenditure of all the

nine, The total money spent by all of them was —

At SRAT |/, 8 SATEAT A Tl 3k WIS oh 1T 30 TAek| i = 6 gt

AT ok ST ST | 20 3Tereh, 37 @Ht gRT el foRaT AT ohet o o -

(1) Rs. 260
(2) Rs. 290
(3) Rs. 292.50

(4) RS. 400.50







@2 If tan0 = 7/24, then what is the value of cosec 0?

(a) 25/24

() 24/7
(d) 24/25
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@)9:4:25
b)25:4:9

(d) 49 : 25 : 64




The average of four consecutive even number is 15. The 2" highest

number is

TTITAR WX §H 64T &1 q 15 3. 300 aa8 agr 6eary




A chord of length 8 cm is at a distance 3 cm from the centre of the circle.
The length of the radius of the radius of the circle is :

Teh AT it #@ars 8 cm NI g W 3 cm Eﬁ‘ﬁ:\ﬂ‘ﬂ'{% arIg qa i
P e?

1) V7 em




Find the value of
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